QOYAANO EPTAZIAZ 3E MPAZEIZ ME NOAYQNYMA

Na ekteAéoeTe (€peTe €ocic) TIC TapakdTw TpdEeig:

1 —-2x°y?-(3xy —4x)+3xy” - (-2x°y* + X°) =

2. a’x-(2x—a)—3ax’-(4a-3x)+2a’- (x* -x) =

3. (2Xy3—azy)-(—3x2a+4y2)+x3y3-(2a_1):

4. (3x* —2ay)-(9x* +6ayx’ +4a’y’) - x-(27x° +a) =
5. (x—1)-(2x+1)-(2—x)—(2x-1)- (x+2)-(3—x) =
6. (4x3y—5x4y3+2xy):x2y—(6ax2y+5ax3y2):axy:
7. (4X° —4x+1)-(2x 1) = (2x +1)-(4X* + 4x+1) =

8. (22’ -3a+1)-(3-a)-(a+2)-(3-4a-a’)=

9. (3xy—2y2)-(3xy+2y2)— y’ -(9x2 —4y2):

ATTOTEAEZMATA:
1. -6x*y’ +11x*y* —6x*y* 2. —10a*x* —3a’x + 9ax® + 2a’x’
3. —4x°y’a+8xy° +3a’yx* — x%y® 4, -8a’y® —ax

5. 2x*—12x+4 6. —5x2y2—2x+2—5x2y 7. —24x* -2
X

8. —a*+15a’-5a-3 9.0



